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Target 14. Use tools and methods to perform basic geometric constructions

p
A CU ns Iﬂ'uf’h bn isa made with help of only two simple tools.
The procedures used for constructions are based on the one developed by Greek geometricians. The two
tools needed are:

1) compass, to construct circles or arcs of a circle and
2) straightedge, to draw lines or rays (a straightedge differs from a ruler only the absence of marks for
measuring distances.)
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Construction l: Copy a segment
Given: 4B
Construct: A segment PQ that is=to 4B
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Construction 2: Copy an angle
Given: Z4BC
Construct: An £PQOR that is =to LABC
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Construction 2: Copy an angle N EE'
Given: Z£4BC ~
Construct: An £PQR thatis =to £ABC LADBTLPRR
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(Construction 3: Bisect an angle A 0
Given: Z4BC ')
Construct; BP, the bisector of ZABC B
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rf;nstrur.:tinn 4: Construct a line segment whose lengthis equal to the sum of two segments N
Given: 4B and CD with®B=CD " 40 Jonyr - +han cp”
Construct: A segment whose length is the sum of 4Band CD
AD+ cD = XR
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